

Governor

Por help click the question mark icon next to each section.

Summary area profile for Germanna Community College, Virginia.

Jobs Data

Current Jobs Available

The table below shows the number of job openings advertised online in Germanna Community College, Virginia on September 29, 2014 (Jobs De-duplication Level 1).

Area Name	Job Openings
Germanna Community College, Virginia	5,550

Job Source: Online advertised jobs data

Monthly Job Count

The table below shows the number of job openings advertised online in Germanna Community College, Virginia in August, 2014 (Jobs De-duplication Level 2).

Constitution of the Consti	Area Name	Job-Openings	
	Germanna Community College	15,852) (VIII)
1		الشميمة فالمتاه المتعاملة فيتعاملها والمصافحة والمصاوحة والمصاورة والمصاورة والمجوور والمرازع والمرازع	સ્થામાર્જ

Job Source: Online advertised jobs data

Job Area Distribution

The table below shows The Virginia Community College regions with the highest number of job openings advertised online in Virginia on September 29, 2014 (Jobs De-duplication Level 1).

alolol Dischiller	Area Name	Rank
63,693	n Virginia Community College, Virginia	1
21,454	ed Area (JSRCC and JTCC), Virginia	2
17,156	ant Reynolds Community College, Virginia	3
15,849	er Community College, Virginia	4
6,564	Nelson Community College, Virginia	5
5,550	ına Community College, Virginia	6
	na Community College, Virginia	6

7 Virginia Western Community College, Virg	inia 5,016
8 Piedmont Virginia Community College, Virginia	ginia 4,550
9 John Tyler Community College, Virginia	4,298
10 Lord Fairfax Community College, Virginia	3,641

Job Source: Online advertised jobs data

Advertised Job Skills

The table below shows the top 10 advertised detailed job skills found in job openings advertised online in Germanna Community College, Virginia on September 29, 2014

To sort on any column, click a column title.

Rank	Advertised Detailed Job Skill	Advertised Skill Group	Jolo Opanings
1	Customer service	Customer Service Skills	726
2	Problem solving	Basic Skills	106
3	Decision making	Basic Skills	105
4	Flexibility	Interpersonal Skills	82
5	Must be outgoing	Interpersonal Skills	78
6	Interpersonal skills	Interpersonal Skills	68
7	Positive attitude	Interpersonal Skills	49
8	Honesty	Interpersonal Skills	49
9	Inventory control	Transportation/Logistic Skills	49
10	Business development	Business Development Skills	45

Job Source: Online advertised jobs data

Show advertised job skills by group

Advertised Job Tools and Technology

The table below shows the top 10 advertised detailed tools and technologies found in job openings advertised online in Germanna Community College, Virginia on September 29, 2014

	Advertised Detailed Tools and		Hole
4	Taghnology Cash Register	Technology Group Cash registers	94
2	Trucks	Light trucks or sport utility vehicles	84
3	Linux	Operating system software	66
4	Ladders	Ladders	51
5	UNIX	Operating system software	47
6	PowerPoint	Presentation software	44

7 Personal protective equipment	Hazardous material protective 41
	apparel
8 Flatbed Scanner	Scanners 24
9 Solaris	Operating system software 23
10 Lathes	Lathes 23

Job Source: Online advertised jobs data

Show advertised job tools and technology by group

Candidate Data

Candidates Available

The table below shows how many potential candidates in the workforce system were looking for work in Germanna Community College, Virginia in September 29, 2014.

			E strain let
	A CONTRACTOR OF THE REAL PROPERTY.		Section Continue to the Contin
	AND THE PERSON OF THE PERSON O	A ANGELIA CONTRATORIO COMO COMO CONTRATORIO DA PROCESA EN MONTA DE PARTE DE CONTRATORIO.	April 10 State (10 State (1) Mark S. 19 Mark (10 State (
Germanna Community College,	Virginia		29,443
	g		

Candidate Source: Individuals with active resumes in the workforce system

Click here to search for candidates

Candidate Area Distribution

The table below shows The Virginia Community College regions in Virginia where the highest number of potential candidates in the workforce system were looking for work on September 29, 2014. There were 18,101 candidates who indicated that they were willing to work anywhere in the state.

Rank		Refuted Militaria
1	Combined Area (JSRCC and JTCC), Virginia	<u>42,499</u>
2	Tidewater Community College, Virginia	40,227
3	J. Sargeant Reynolds Community College, Virginia	36,585
4	Northern Virginia Community College, Virginia	<u>36,445</u>
5	Thomas Nelson Community College, Virginia	<u>36,445</u>
6	John Tyler Community College, Virginia	<u>35,772</u>
7	Paul D. Camp Community College, Virginia	<u>30,585</u>
8	Germanna Community College, Virginia	<u>29,443</u>
9	Virginia Western Community College, Virginia	<u>28,908</u>

Candidate Source: Individuals with active resumes in the workforce system

Supply and Demand

Number of Unemployed per Job Opening

There is no data available for Germanna Community College, Virginia.

Number of Unemployed per Job Openings Distribution

The table below shows The Virginia Community College regions with the highest ratio of preliminary estimated number of unemployed (not seasonally adjusted) to number of advertised online job openings in Virginia for July, 2014 (Jobs De-duplication Level 2).

To sort on any column, click a column title.

Rank	Area Name	Number of Unemployed in July, 2014 (not Seasonally Adjusted)	Openings	Number of Unemployed per Job Opening In July, 2014
1	Mountain Empire Community College, Virginia	3,619	1,353	2.67
2	Southwest Virginia Community College, Virginia	3,883	1,558	2.49
3	Patrick Henry Community College, Virginia	4,603	1,911	2.41
4	Southside Virginia Community College, Virginia	6,477	3,013	2.15
5	Wytheville Community College, Virginia	4,005	2,314	1.73
6	Eastern Shore Community College, Virginia	1,425	845	1.69
7	Rappahannock Community College, Virginia	5,277	3,217	1.64
8	Virginia Highlands Community College, Virginia	3,795	2,352	1.61
9	Danville Community College, Virginia	5,270	3,623	1.45
10	Paul D. Camp Community College, Virginia	4,399	3,062	1.44

Source: LAUS Unit and Bureau of Labor Statistics; Job Online advertised jobs data

The table below shows the occupations with the highest ratio of potential candidates in the workforce system that were looking for work to job openings advertised online in Germanna Community College, Virginia on September 29, 2014 (Jobs De-duplication Level 1).

To sort on any column, click a column title.

Rank	Occupation	May, 2012 Mean Annual Wage	Potential Candidates	Job Openings	Potential Candidates Per Job Opening
1	Office and Administrative Support Workers, All Other	\$43,075.46	<u>200</u>	1	200
2	Administrative Services Managers	\$88,457.83	<u>301</u>	2	150.5
3	Sales Representatives, Services, All Other	\$66,766.69	90	1	90
4	Office Clerks, General	\$29,032.73	329	4	82.25
5	Computer and Information Systems Managers	\$144,317.22	<u>148</u>	2	74
6	Bookkeeping, Accounting, and Auditing Clerks	\$37,366.39	<u>161</u>	3	53.67
7	Home Health Aides	\$20,689.68	<u>50</u>	1	50
8	Logistics Managers >	\$92,393.61	<u>46</u>	1	46
9	Construction Managers >	\$87,965.09	<u>84</u>	2	42
10	Business Operations Specialists, All Other	\$79,647.83	<u>76</u>	2	38

BRIGHT OUTLOOK NATIONALLY FREEN OCCUPATIONS

Candidate Source: Individuals with active resumes in the workforce system
Job Source: Online advertised jobs data
Wage Source: Occupational Employment Statistics and Wages Program
Data is from a biannual wage survey

Employer Data

Employers by Number of Job Openings

There is no data available for Germanna Community College, Virginia.

Education and Training Data

Education Requirements on Advertised Jobs

The table below shows the minimum required education level on job openings advertised online in Germanna Community College, Virginia on September 29, 2014 (Jobs De-

duplication Level 1).

To sort on any column, click a column title.

JR airik	Minimum Education Level Job Openings	Pareni
1	High School Diploma or Equivalent 250	43.4%
2	Vocational School Certificate <u>12</u>	2.08%
3	Associate's Degree <u>33</u>	5.73%
4	Bachelor's Degree <u>249</u>	43.23%
5	Master's Degree <u>32</u>	5.56%

Job Source: Online advertised jobs data

Education Level of Available Candidates

The table below shows the education levels of potential candidates in Germanna Community College, Virginia on September 29, 2014.

To sort on any column, click a column title.

Rank	Minimum Education Level	Potentiel Camblidates	Pelreoni
1	Less than High School	<u>628</u>	2.13%
2	High School Diploma or Equivalent	<u>9,435</u>	32.07%
3	1 to 3 Years at College or a Technical or Vocational School	<u>3,110</u>	10.57%
4	Vocational School Certificate	<u>1,405</u>	4.78%
5	Associates Degree	<u>5,322</u>	18.09%
6	Bachelors Degree	<u>6,296</u>	21.4%
7	Masters Degree	<u>2,759</u>	9.38%
8	Doctorate Degree	<u>298</u>	1.01%
9	Specialized Degree (e.g. MD, DDS)	<u>165</u>	0.56%

Candidate Source: Individuals with active resumes in the workforce system

Advertised Job Certifications

The table below shows the top 10 advertised detailed certifications found in job openings advertised online in Germanna Community College, Virginia on September 29, 2014

1	Commercial Drivers License (CDL)
2	Certification in Cardiopulmonary Resuscitation (CPR) 6
3	Certified Nursing Assistant (CNA)
4	Information Technology Infrastructure Library Certification 38 (ITIL)

5	Cisco Certified Network Associate (CCNA)
6	Certified Information Systems Security Professional (CISSP) 20
7	Systems Security Certified Practitioner (SSCP) 20
8	Advanced Cardiac Life Support Certification (ACLS) 19
9	Basic Life Support (BLS) Certification 19
10	Security+ Certification 18

Job Source: Online advertised jobs data

Work Experience Data

Work Experience Requirements on Advertised Jobs

The table below shows the minimum required work experience on job openings advertised online in Germanna Community College, Virginia on September 29, 2014 (Jobs Deduplication Level 1).

To sort on any column, click a column title.

Fank	Mix	ilmum Experience		e dele Distributet	Parenni
1	Less than 1 Year			10	1.62%
5	Entry Level			112	18.18%
6	More than 10 Years	agin quiquam qua qua quanti quan qua qua qua qua qua ta	en and a children at the enterent and the contract of the cont	14	2.27%
2	1 Year to 2 Years			226	36.69%
3	2 Year to 5 Years		enneme f af a nome, af anne an primeira ann an fri an' a	216	35.06%
4	5 Year to 10 Years			38	6.17%

Job Source: Online advertised jobs data

Work Experience Levels of Available Candidates

The table below shows the experience levels of potential candidates in Germanna Community College, Virginia on September 29, 2014.

To sort on any column, click a column title.

Pennik	Minimum Experience	Pajunija Dandjakter	Fereint
1	Less than 1 year	2,936	9.97%
5	More than 10 Years	19,037	64.65%
2	1 Year to 2 Years	949	3.22%
3	2 Years to 5 Years	2,618	8.89%
4	5 Years to 10 Years	3,904	13.26%

Candidate Source: Individuals with active resumes in the workforce system

Employment Wage Statistics

The table below shows estimated average wage information Germanna Community College, Virginia for the 4th quarter, 2013.

Area Name	Total	CANDADA ASSOCIATION AND AND AND AND AND AND AND AND AND AN		
	Aversies Employment			
Germanna Community College, Virginia	141,244	\$20.70	\$828	\$43,056
Virginia	3,663,671	\$25.70	\$1,028	\$53,456

^{*} Assumes a 40-hour week worked the year round.

Source: Labor Market Statistics, Covered Employment and Wages Program

Employment Wage Statistics Distribution

The table below shows The Virginia Community College regions with the highest estimated average weekly wages in Virginia for the 4th quarter, 2013.

Rank	Area Name	Total Average Employment	Average Hously Wage	Average Weekly Vage	AVERSION Assisted Wage	Endliminary
1	Northern Virginia Community College, Virginia	1,169,152	\$35.28	\$1,411	\$73,372	No
2	J. Sargeant Reynolds Community College, Virginia	404,835	\$24.73	\$989	\$51,428	No
3	Piedmont Virginia Community College, Virginia	109,013	\$23.75	\$950	\$49,400	No
4	Combined Area (JSRCC and JTCC), Virginia	595,716	\$23.63	\$945	\$49,140	No
5	John Tyler Community College, Virginia	190,881	\$21.30	\$852	\$44,304	No
6	Tidewater Community College, Virginia	475,862	\$21.18	\$847	\$44,044	No
7	Thomas Nelson Community College, Virginia	216,433	\$20.90	\$836	\$43,472	No

8	Germanna Community College, Virginia	141,244	\$20.70	\$828	\$43,056	No
9	Paul D. Camp Community College, Virginia	45,655	\$20.60	\$824	\$42,848	No
10	Virginia Western Community College, Virginia	150,192	\$19.88	\$795	\$41,340	No

^{*} Assumes a 40-hour week worked the year round.

Source: Labor Market Statistics, Covered Employment and Wages Program

Minimum Desired Wage of Available Candidates

The table below shows the minimum desired wage of potential candidates in Germanna Community College, Virginia.

To sort on any column, click a column title.

Rauli	Minin	num Desired Wage	Percential Contellations	P(2) (6) (10)
1	Not Specified		5,541	18.60
2	\$5,000 - \$19,999		1,134	3.81
3	\$20,000 - \$34,999	ыда	9,507	31.92
4	\$35,000 - \$49,999		<u>5,945</u>	19.96
5	\$50,000 - \$64,999		3,061	10.28
6	\$65,000 - \$79,999		<u>1,617</u>	5.43
7	\$80,000 - \$94,999		1,131	3.80
8	\$95,000 or more		1.850	6.21

Candidate Source: Individuals with active resumes in the workforce system

Unemployment Rates

Area Labor Force, Employment and Unemployment Data

The table below shows preliminary estimated labor force, employment and unemployment information in Germanna Community College, Virginia for July, 2014. These figures are not seasonally adjusted.

		Emeloyeek	Number Unemployed	Unemployment Rate	Preliminary Data
Germanna	228,740	216,798	11,942	5.2%	Yes
Community College	200				
					Wydaczny,

Virginia 4,277,246	4,031,516	245,730	5.7% Yes
United States 155,971,000	144,509,000	11,462,000	7.3% Yes

Source: LAUS Unit and Bureau of Labor Statistics

Labor Force, Employment and Unemployment Distribution

The table below shows The Virginia Community College regions with the highest preliminary unemployment rate in Virginia for July, 2014. These figures are not seasonally adjusted.

To sort on any column, click a column title.

Rank	Area Name	Unempleymani Rate	Pathonomy/
1	Mountain Empire Community College, Virginia	8.6%	Yes
2	Southwest Virginia Community College, Virginia	8.6%	Yes
3	Southside Virginia Community College, Virginia	8.3%	Yes
4	Danville Community College, Virginia	8.2%	Yes
5	Virginia Highlands Community College, Virginia	7.5%	Yes
6	Wytheville Community College, Virginia	7.1%	Yes
7	Patrick Henry Community College, Virginia	7.1%	Yes
8	Dabney S. Lancaster Community College, Virginia	6.4%	Yes
9	Central Virginia Community College, Virginia	6.3%	Yes
10	New River Community College, Virginia	6.2%	Yes

Source: LAUS Unit and Bureau of Labor Statistics

Industries

Current Employment Statistics

There is no data available for Germanna Community College.

Industries by Projected Growth

There is no data available for Germanna Community College, Virginia.

Population

Population Totals

The table below shows the estimated population in Germanna Community College, Virginia for the 1997-2007 time period.

Area Name	Sala Fali A again	2007	Eringerisi
	EGMMMM Republikation	Eminocus Samusians	- kien-zinor Populainon
			Plannemi Charge
Germanna Community College	291,937	405,772	38.99%
Virginia	6,829,183	7,751,000	13.50%
United States	272,646,925	301,231,207	10.48%

Source: US Census Bureau Estimates